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mETH | ERFA BIEHHER 6/1| 6/2| 6/3| 6/4| 6/5| 6/6| 6/7| 6/8| 6/9|6/10(6/11(6/12|6/13|6/14|6/15[6/16|6/17|6/18|6/19|6/20|6/21|6/22|6/23|6/24|6/25|6/26|6/27|6/28|6/29|6/30 T4 | BIE B1%%

t4EET%15 |PA—1000 |#hRADTm (004 0.04 0.04 (0.04 0.04 0.04 0.04
Hh 5= H1150.5m|0.04 0.04 0.04 [0.04 0.04 0.04 0.04 °

RENER |[PA—1000 |HERMNDTm 0.04 0.04
R AHV50.5m 0.04 0.04 !

W RNV [PA—1000 [#hRMASTm 0.03 0.03
&R M 50.5m 0.04 0.04 !

B RINER. |[PA—1000 |#iRMDTm 0.04 0.04
HhFRM50.5m 0.04 0.04 !

4 ERER |PA—1000 [HERNDTmM 0.04 0.04
R AHV50.5m 0.04 0.04 !

M¥ERER [PA—1000 |[thRADImM 0.04 0.04
HhFRH50.5m 0.03 0.03 !

MHHE |PA—1000 (HEMDSTIm 0.05 0.05
£ 4 T 1

HhF A 50.5m 0.05 0.05

W ESH#E [PA—1000 [HRASTmM - #DIV/0!
#h 3 A i50.5m - #DIV/0! °

E=ILFHERE |PA—1000 (HERMSTm 0.04 0.04
HhFRH50.5m 0.04 0.04 !

B EREHHE [PA—1000 [thERASImM 0.05 0.05
HhFR A 50.5m 0.05 0.05 !

=IUERER |PA—1000 |#ERMNSTmM 0.03 0.03
R HV50.5m 0.03 0.03 !

F2HEHFHE [PA—1000 [HERASTIm 0.05 0.05
&R M 50.5m 0.05 0.05 !
:‘ﬁf;f_% PA—1000 |#iFH51m 0.04 oo |

HhFRM50.5m 0.04 0.04
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